
 

 
aTxT Phones is considering building a new factory for $3,000,000 to produce aPhones.  The new factory would be 

depreciated on a straight-line basis of $600,000 per year for each of the next 5 years (starting next year).  
Expected sales of aPhones are expected to vary by year as follows:  1st year = $4,000,000; 2nd year = 
$5,000,000; 3rd year = $5,500,000; 4th year = $4,500,000; and 5th year = $2,500,000.  Production costs are 
expected to equal 75% of sales and fixed costs associated with the new factory will equal $1,000,000 per year.  
Inventory is expected to equal 15% of each year’s sales and accounts payable are expected to equal 5% of each 
year’s sales.  aTxT’s cost of capital is 14% and its tax rate is 35%.  What is the factory’s free cash flow four 
years from today (during the 4th year)? 
 
𝐹𝐹𝐹𝐹𝐹𝐹4 = (𝑅𝑅4 − 𝐸𝐸4 − 𝐷𝐷4)(1 − 𝜏𝜏𝐶𝐶) + 𝐷𝐷4 − 𝐶𝐶𝐸𝐸4 − Δ𝑁𝑁𝑁𝑁𝑁𝑁  
=> 𝐹𝐹𝐹𝐹𝐹𝐹4 = (4,500,000 − .75(4,500,000) − 1,000,000 − 600,000)(1 − .35) + 600,000 − 0 − 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 

34 NWCNWCNWC −=∆  
( ) ( )000,500,405.000,500,415.4 −=NWC  
( ) ( )000,500,505.000,500,515.3 −=NWC  

 


